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PAP Geometry ; Chapter 11 Test Review
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VOLUME

Multiple Choice: Capital letter for the best answer.

Find the volume of a regular triangular pyramid with base sides 6m and a slant height of 3m.
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A sphere with a radius of 6 cm is inscribed in a cube. Find the volume of the cube.
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Free Response Show aII work for full credit. HINT: Draw and label flqures Write out your “plan” for the

process of getting an answer.

4. Alex made a scale model of a submarine for his science class. If 1 inch in the model represents 20
feet in the actual submarine, what is the volume of the actual sub? ., - =1 ES
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5. A trapezoidal prism has a height of 15m. The trapezoids r;ave bases 6m and 12m and a height of 4m.

Find the volume. V: 6\,\ :Gi Gg"f ‘0;) l’\> (]’\)
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6. Aright cylindrical glass 8 cm in diameter contains water to a depth of 4 cm. What volume of water
must be added to raise the height to 10 cm?
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7. A rocket is made of a cone on top of a cylinder. The cylinder has a diameter of 16ft and a height of 50
ft. The cone on top has a slant height of 17 ft. If 60% of the space in the rocket is needed for fuel, what is
the volume, to the nearest foc the nearest foot, of the portlon of the rocket that is available for non fuel items?
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8. The volume of a cone is 8001t u’. Find the height of the cone in terms of the radius.

9. Find the volume ofa pyramld whose height is 23 cm and whose base is a rhombus with diagonals 16
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10. Find the volume ofﬁ%angular pyramid with a base of 6cm and a height of 7 cm.
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11. A right cylinder has a radius 3 and height 8. A cone has the same radius as the cylinder. Find the
height of the cone if the two have the same volume

Vcwm L L,_ %
W i 'L M = 'ﬂr’zl’\ B W
' 1 ﬂ( @g (h }){é{g (Y) E

12. Find the volume between a cube and a cyhnder inside if the cube has side length of 12 and the

cylinder has a radius of 3. e s - ,
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13. The slant height of a cone measures 18 mm and the altltude méasures 9mm 'Find the volume of the
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14. The corresponding edges of two similar triangular prisms are in a ratio of 3:5. If the volume of the

larger prism is 1250 in2 what is the volume of the smager nsg? 7 ’Z 2 3 X 33740 = /QS;(
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16. Find the vqun’m(e of each of the following if the helght of the cones, the pyramids, and
edges of the pyramids and prisms are all 4 feet. The radius of the cones and spheres is also 4 feet. The

height of the base prisms and cylinders is 60 feet.
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4. Find the total surface area of B S %
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5. Find the total surface area for this net?
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6. An elephant is standing on a circular platform that is larger on the bottom 6. .Y

than it is on top (a cone that has been cut off). If the diameter of the top circle
is 4 feet, the diameter of the bottom circle is 6 feet and the platform angles in

at a 45 degree angle, What is the surface area of the platform?
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7. Find the total surface area of a cube with a cylinder cut out. The sides 7 ;4'00 - 3 Iq:‘)”}' m

of the cube are 20 m and the diameter of the cylinder is 16 m.
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8. Find the lateral area of a triangular pyramid with a height

of 8 in and a base that is an equilateral triangle with L7 PM
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9. A regular square pyramid has a slant height of 21 units 9. w
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Find the surface area c;? each figure (Bases are reqular polygons)
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15: F|nd the total surface area a regular triangular pyramid with base edge 4 cm and slant height 6 cm.
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16. Find the total surface area a regular pentagonal pyramid with base edge 1.5 m and slant height 9. m.
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18. What is the surface area of the right cone,whose net is shown3
1=l + v, -
=T () + TEN ™

= 24 4 o
= [4ow am?]
A 12S.bd em™ |

19. A regular right pyramid has a height of 12 feet. The area of its square base is 100 square feet
F|nd its surface area.
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20. Find the total area of a cube with edges of Iength 5:/ 3 mches o
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21. Find the lateral area and total area ofa right prism whose helght is 12 and whose base is a
regular hexagon with sides of length 18 _/’——"
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22. Find the lateral area and total area of a right prism whose height is 7, and whose base is an
isosceles triangle with sides 13, 13 and 10. Ph (
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23. Given that the base of a right prism is a rhombus with diagonal 6 cm and 8 cm, and that t 5T
height of the prism is 14, find the lateral area of the prism.
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g 25. Find the total surface area of a hexagonal pyramid if the sides of the base each have length 6 cm
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S, = * B a9 fab = 94 “ r {2
‘- — - 1 R, A ¢ - - e —~ oo/ = o R =
i 'Y‘ s ) v — \ oA vl- lr
“ ";L, iy z 133 = 12r [ §
J | ¥ g 7~ 2 p

27. The height of a prism with square bases is three times the length of a base edge. If the surface
area is 350, find a_length of the base of the prism.
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28. Find the lateral area and total area of a cylinder w;th base diameter 18u and height 11u.
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Name Date
Chapter 11 Formula Chart /51l 3
3D Shape Lateral Surface Area Total Surface Area Volume
Prism L=Ph T=Ph+2B V = Bh
- 1 = 1
Pyramid b Lp TZEPZ+B V—gBh
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Trapezoid 1
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Polygon i 2 &
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